7 S 318 F i 1

V&Rl

e |l i
e 24 S

=
BMERTHE %
® @ ® ® ® ® &
3V 10] - E - |NO AC110V g
—— ® gnee —————— . HE
@ miEts We[wsr0s O MRS ®mtnE =S
3V |2f3iE 06 | Rc1/8 NC | &R DC12V & m
08[Relfd ——— DC24v £
10 | Rea/8 NO| #FE AC24V 50/60Hz ;ﬁ =
@ wIKE 15| Re1/2 AC110V 50/60Hz
1 100 @ EERNN AC220V 50/60Hz
21 200 10 [ S EmT =,
_ 3] 300 20 | QAW BERT R
_ 4| 400 10S| AW E HER

20S| WA E HET

RS
B8 Bk Kot

&
HE
=T
ERESEE 0.15~0.8MPa % &
ffit & 1.2MPa
T{ERESEE 5~60°C %
FREEE -10%~+10% g
RIPER P65 ]
SR B
R iHFI ﬂ«
17
g AFE 5
&L
B 5Hz
i -
M=
3V110-06-NO . 73V210-08—NO =
. I
0.7 ] | %
— 0.6 ——
0.6 ] |
- 05 ]
= 0.5 .| I~ —
=3 -~ S 04 S —
S 04 =] % | %
R ~ 0.3 )
%; 0.3 — lﬁijﬁ 0 R \ &
0.1
0.1 =~
0 N | [ . VT T ]
0100200 300 400 500 600 700 800 9001000 0 200 400 600 800 1000 1200 1400 1600 1800 s
i (L/min) & (L/min) @
3V410-15-NO E
3V310-10-NO 0.7 —T—] =
ST T TR 0.6 — 2]
0.6 —T——1—]
T 0.5 —
= 05 = z .. |
S 04 s — &
B o3 — \ R 03 = =
o - \ G 8
%E 0.2 ] \ \ :&E 0.2 \ *
0.1 N 0.1
0 1L 0 NV
0 400 800 1200 1600 2000 2400
- ' 0 500 1000 1500 2000 2500 3000 3500 4000
& (L/min) S8 (L/min) Eﬁ
%
B-141




3VERF xostsmmum

R
M
[T [T I
©
{ 2-9G I:
[T [T FK x
_ K 4 &
24
E © —He 79€y
iﬁE?’ w o %
I o G
o B . i . ‘j}e
7E:51 z = =l
T
D 2-gl P Q
A J
B
i AlB| C | D E F| G H I J | K L M N Jo| P |Q R S T
3V110-M5 131181227 | 0 | M5x0.8 | 19 |@3.3| 13.2 | @31 |27 | 25|88.4 | 55 | 122 |21 | 7.7 | 0| M5x0.8 | 14.2 | 14.7
3V110-06 13| 18 | 23.7 1 Rc1/8 19 |@3.3| 132 | @31 | 27| 25| 88.4 55 1221211 77 | 2 Rc1/8 16 14.7
3V210-06 17 1221277 | 0O Rc1/8 30 | @3.2| 127 | 942 | 35| 3 109 | 66.7 | 152 | 25| 82 | 0 Rc1/8 22 16.7
3V210-08 17 | 22 | 28.7 | 1.5 Rc1/4 30 |@3.2] 12,7 | @42 | 35| 3 109 | 66.7 | 152 | 25| 82 | 0 Rc1/4 225 | 16.7
3V310-08 20127 1325] 0 Rc1/4 35| @43 15 @43 | 40|24 120 | 692 | 175|130 | 105 | 0 Rc1/4 24 | 20.5
3V310-10 20 | 27 | 325 | 2 Rc3/8 35| @4.3| 15 @43 | 40|24 120 | 692 | 175 |30 | 105 | 0 Rc3/8 24 | 20.5
3V410-15 27 34| 42 | 3 Rc1/2 | 48 |©@45| 175 | @45 |50 | 28| 138 | 74 | 175|48| 13 | 0| Rc1/2 35 | 25
M
(1] [T I
|
|
4
|
! 2-9G I:
|
| he Llg
R Iy i
\:J
Amu<§x 2o
w (o) %)
N - Vaii
o ¢ | Wy
J[tI]III[I]]] I q
N T z [l
,@, |
| |
| 1
O T w |
D P
A J
B
i) A|lB| C | D E F| G H I J | K L M N |o| P |Q R S T
C-3V120-M5 1318|657 | 0 | M5x0.8 |19 [ @33 56.2 | @31 [27]25[1314] 55 [ 55221 7.7 [0 | M5x0.8 | 142 | 57.7
C-3V120-06 13|18 | 66.7 | 1 Rc1/8 | 19 | @3.3 | 56.2 | @31 | 27 | 2.5 [131.4| 55 | 552 | 21| 7.7 | 2| Rc1/8 16 | 57.7
C-3V220-06 17 122|814 | 0 Rc1/8 |30 |@3.2|664 | @42 | 35| 3 [162.8|66.7| 69 | 25| 82 | 0| Rc1/8 22 | 70.2
C-3V220-08 17 | 22 | 824 | 1.5| Rc1/4 |30 |@3.2|66.4 | @42 | 35| 3 |162.8|66.7| 69 | 25| 82 | 0| Rc1/4 | 225|702
C-3V320-08 20| 27| 874 0 Rc1/4 | 35| @43 | 70 | @43 | 40 | 2.4 |174.8| 69.2 | 72.4 | 30 | 10.5 | 0 | Rc1/4 24 | 754
C-3V320-10 20|27|874| 2 | Rc3/8 |35|@43| 70 | @43 | 40 | 2.4 [174.8] 69.2 | 72.4 | 30 | 105 | 0 | Rc3/8 24 | 75.4
C-3V420-15 27| 34| 965| 3 | Rc1/2 | 48| @45| 725 | @45 |50 | 2.8 | 193 | 74 | 725|48| 13 |0 | Rc1/2 | 35 | 79

B-142



